1.
A 1.0 µF capacitor is charged by means of a constant current of 10 µA for 20s.  What is the energy finally stored in the capacitor?
A 4.0 × 10-4J

B 2.0 × 10-3J

C 2.0 × 10-2J

D 4.0 × 10-2J
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7 In the circuit shown, the capacitor C is charged to a potential difference /" when the switch S is closed.

‘Which line, A to D, in the table gives a correct pair of graphs showing how the charge and current
change with time after S is closed?

graph 1 graph 2

time
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5 Interference maxima produced by a double source are observed at a distance of 1.0 m from the
sources. In which one of the following cases are the maxima closest together?

A red light of wavelength 700 nm from sources 4.0 mm apart

B sound waves of wavelength 20 mm from sources 50 mm apart

C  blue light of wavelength 450 nm from sources 2.0 mm apart

D  surface water waves of wavelength 10 mm from sources 200 mm apart

6 A 400 uF capacitor is charged so that the voltage across its plates rises at a constant rate from
0V to 4.0V in 20s. What current is being used to charge the capacitor?

A SuA
B 20pA
C  40pA
D 80uA

7 What is the value of the angular velocity of a point on the surface of the Earth?

A
B
C

Rotate Clockwise

1.2x 107 rads™
7.3 % 107 rads™
2.6 x 107" rads™
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A in the same direction as the electric field.

B in the opposite direction to the electric field.

C in the same direction as the motion of the electron.

D in the opposite direction to the motion of the electron.

A 1000 UF capacitor and a 10 UF capacitor are charged so that the potential difference across each of them
is the same. The charge stored in the 1000 uF capacitor is Q, and the charge stored in the 10 uF capacitor
is Os.

‘What is the ratio g ?
[

A 100
B 10
c 1
p L
100

‘Which one of the following statements is not true about the control rods used in a nuclear reactor?

They must absorb neutrons.

They must slow down neutrons to thermal speeds.
They must retain their shape at high temperatures.
The length of rod in the reactor must be variable.
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7 A 1000 µF capacitor, initially uncharged, is charged by a steady current of 50 µA.  How long

will it take for the potential difference across the capacitor to reach 2.5V?
A 20 s

B 50 s

C 100 s

D 400 s
8 In experiments to pass a very high current through a gas, a bank of capacitors of total

capacitance 50 µF is charged to 30 kV.  If the bank of capacitors could be discharged

completely in 5.0ms what would be the mean power delivered?

A 22 kW

B 110 kW

C 4.5MW

D 9.0MW
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